m Bkt S30AXEMER

~BRERE(BA) ~
<65~69m% >3ZIHH
[RELE [7]

FAZT4IN<ASHBEOFERAHY

EEE 260,000 A
RE 1,470 /B x30= 44,100 A
EEREE 370 A/B x30= 11,100 A
T AT 4tuk 1694 A/B x30= 50,820 M
ANERER &t 366,020 A
2ANEED &t 432,020 M (E$ = 2200 M/8)
2ANEREQ &t 448520 M (EH = 2750 M/B)
BEED &t 498,020 M (EHE% 4400 [/A8)
EEQ &t 630,020 M@ (EH=% 8800 A/H)

TrA—FT1tvb<C>#ELOFEALL

EEE 260,000 H
BE 1,470 A /B x30= 44100 M
EERER 370 A /A x30= 11,100 A
FAZT4t vk 814 @ /B x30= 24420 H
ANERER &t 339,620 M
2ANEED &t 405,620 M (EH = 2200 H/8)
2ANEREQ &t 422120 B (EH =% 2750 M/8)
BEED &t 471,620 M (EH#E% 4400 [/A8)
EEQ &t 603,620 M (Ex=% 8800 A/H)

X BES EHZREFENSHLEE. JE. FREESELELTT,

1 SF6E6H 1 BIER



m Bkt S30AXEMER

~BEERE(FA) ~
<65~695i% > 3G H
[REZE []
FHrA=-T1yb<ASHETLDOFERAHY
ERE 180,000 A
BE 1,470 A/8 x30= 44100 M
SEBREE 370 M/B x30= 11,100 A
FAZT 4tk 1,694 A/ x30= 90,820 H
ANERE it 286,020 A
2ANBED it 352,020 M@ (EHZEZE 2200 A/8)
2AHBEQD Bt 368,520 A (=g=% 2750 M/H)
BZED &t 418,020 M (E¥E% 4400 H/A)
BEQ &t 550,020 B (E#=% 8800 A/A)

TrA=T14tvb<CO#MBEOOFEALL

ERE 180,000 A
RE 1,470 B /B x30= 44100 M
EERER 370 A /A x30= 11,100 M
TrA=T14tvk 814 @ /B x30= 24 420 A
ANERER &t 259,620 H
2ANBED it 325,620 A (E#EZE 2200 A/8)
2AHEQ it 342,120 M (EHZEEE 2750 A/B)
EESQ, &t 391,620 A (EHEZE 4400 A/H)
) &t 523,620 M (EH=% 8800 A/A)

X BES EHZREEFNSHLEE. BE, FREESRLELET,

2 SF6E6H 1 BIER



m Bkt S30AXEMER

~BRERE(BA) ~
<65~69%% >3EIHH
[BERE [V]
TAZT4Evr<ASHET OFERLL
EEE 85,000 M
At 1470 m/B x30= 44,100 A
EEBRER 370 A/B x30= 11,100 A
TAZT14Yk 1,694 /B x30= 50,820 H
ANERE it 191,020 H
2ANERED & 257,020 B (= =% 2200 H/H)
2ANBEQ it 273,520 M (EH=EE 275 A/B)
BED & 323,020 B (Ef=% 4400 FH/H)
EZEQ it 455,020 M (EHEEE 8800 A/A)

TrA=T14tvb<CO#MBEODFERALL

ERE 85,000 H
RE 1,470 B /B x30= 44100 M
EEEEE 370 A /B x30= 11,100 A
T ATtk 814 M /B x30= 24,420 A
ANERER &t 164,620 A
2ANEED & 230,620 B (= =% 2200 H/H)
2ANEREQ &t 247,120 M@ (Ex=EE 275 A/B)
EED it 296,620 M (EHEZE 4400 A/8)
EEQ &t 428,620 M (Ex =% 8800 H/H)

X BES EHZREENHOLEE. BE, FREESRLELET,

3 SF6E6H 1 BIER



m Bkt S30AXEMER

~BEERE(FA) ~
<65~69i% > 3G H
[RRESE [T]
FHrA=-T1yb<ASHETLDOFERAHY
ERE 57,600 A
BE 1,470 A/8 x30= 44,100 M
SEBREE 370 M/B x30= 11,100 A
FAZT 4tk 1,694 A/ x30= 90,820 H
4NERE it 163,620 A
2AZED &t 229,620 M
2AEED it 246,120 H
BEED &t 295,620 A
EEI) it 427,620 A

TrA=T14tvb<CO#MBEOOFEALL

EERE 57,600 A
RE 1,470 B /B x30= 44100 M
EEREE 370 A /A x30= 11,100 A
T ATtk 814 M /B x30= 24,420 A
ANERE it 137,220 H
2AEBED &t 203,220 A
2AEBED &t 219,720 H
EEIQ) &t 269,220 H

BE=EQ &t 401,220 A

X BES EHZREEFNSHLEE. BE, FREESRLELET,

(BHER
(BMEHE
(BHER
(BMEHE

(BHER
(BMEHE
(BHER
(BMEHE

2,200 M/H)
2,750 M/H)
4,400 FH/8)
8,800 /H)

2,200 H/H)
2,750 M/H)
4,400 FH/8)
8,800 /H)

SF6E6H 1 BIER



m Bkt S30AXEMER

~BRERE(BA) ~
<65~695% >3EIAH
[REEEE (4]
TAZT141IR<A>

EEE 35,400 A
BE 690 /B x30= 20,700 A
EEBRER 370 A/B x30= 11,100 A
TA=ZT4tvk 1,694 /B x30= 50,820 H
4NERE it 118,020 A
2ANEED &t 184,020 A
2ANEEQ &t 200,520 A
BEED &t 250,020 A

EZEQ &t 382,020 M

TA=T4tY<C>

ERE 35,400 A
BE 690 A /B x30= 20,700 A
SEEEE 370 @ /B x30= 11,100 A
FAZT4tYk 814 M /B x30= 24 420 H
ANERE it 91,620 A

YN =H0) &t 157,620 H
2ANEEQ &t 174,120 A
EZED &t 223,620 A

BEEQ &t 355,620 A

X BES EHZREFENSHLEE. JE. FREESRLELTT,

(BHER
(BMEHE
(BHER
(BMEHE

(BMEHE
(BHER
(BMEHE
(BHER

2,200 M/H)
2,750 M/H)
4,400 FH/8)
8,800 /H)

2,200 /H)
2,750 M/H)
4,400 /H)
8,800 M/H)

SF6E6H 1 BIER



